G6PD & Einia P/ Elan B Sa T4 R 5 SDI 73 ffi

8% LotNo © AH1220N (2019-01-28 ~ 2100-12-31)  Change
FIENEZ
A BA BE .
TRERER(T - Lab016
Control N Control D
QC Control Lot No. AH1220N AH1220D
MR AR Month CUM Month CUM
PRIR (2019/08) (2019/02/01~2019/08/31) (2019/08) (2019/02/01~2019/08/31)
ZEERE (N) 5 ] 16 5 ] 16
Z51FH91E (Mean) U/gHb 160 | 16.1 53 5.2
| Z AR (SD) [ o1 | 0.2 01 | 0.1
ZEHERGH (CV) % 06 | 1.2 19 | 1.9
FIf25{E (Target) U/gHb 153 | 153 52 5.2
Y=R3E (TE) % 58 | 7.7 57 3.8
A 25T AAEE S (TEa) % 20 | 20 20 | 20
o >6 | >6 >6 | >6
i (Bias)% = { [ | B&FFHI(E (Mean) - H{E (Target) |1/ FIFE{E (Target) } x 100%
YizA7% (TE, Total Error)% = 3274 (Bias)% + 2 x B R{AH] (CV)
o (Sigma) = (TEa% - 3572 (Bias)%) / BET#E(AEL (CV)
4zt 2019 08 Change ; ZETHARI (CUM): B 2019 02 01 % 2019 08 31 Change
[TOP]
Control N SDI 4745 |
Lot No.: AHI220N ; MBHART © 2019-02-01 & 2019-08-31 ; EfE{H (Target) : 15.3 ; @47 (SD) : 0.8 Fifir : Lab016
Labo16
+3 5.0,
+2 5.0,
+15.0. e o o ¢ o . S SN S e
Target
-1 5.0,
-2 5.0,
=3 5.0,
Date 05-02 05-16 05-23 05-30 06-13 06-20 06-27 07-04 07-11 07-18 07-25 08-01 08-01 08-08 08-15 08-22
B4t © 2019 08 Change ; ZEHHAM (CUM) : H 2019 02 01 % 2019 08 31 Change
[TOP]
Control D SDI 731
Lot No.: AH1220D ; A#BgHARK © 2019-02-01 = 2019-08-31 ; H5{¥ (Target) : 5.2 ; %4842 (SD) : 0.4 iz : Lab016
Lab016
+3 5.0,
+2 5.0,
+1 5.0,
Target = = =] = . = o [m] = 5 o (] o = [u]
-1 5.0,
-2 5.0,
=3 5.0,
Date 05-02 05-16 05-23 05-30 06-13 06-20 06-27 07-04 07-11 07-18 07-25 08-01 08-01 08-08 08-15 08-22
B%isf 0 2019 08 Change ; ZEEHHART (CUM): [ 2019 02 01 % 2019 08 31 Change

[TOP]



Lot No.: AH1220N ; fgB&HART © 2019-02-01 % 2019-08-31 ; HZ(E (Target) : 15.3 ; 2 F1E#EZE (SD) : 0.8

Control N £z Control D SDI

7 filEd

Lot No.: AH1220D ; f@B#HARN] © 2019-02-01 %2 2019-08-31 ; HAZ(H (Target) : 5.2 ; &84 (SD): 0.4 (o)

(®

|BEAr : Lab016

Lab016
+3 5.0,

+2 5.0,
+1 5.0, |e

*

]
L ]

Target

-1 5.0,

-2 5.0,
=3 5.D.

Date 05-02 05-16 05-23 05-30 06-13 06-20 06-27 07-04 07-11 07-18 07-25 08-01 08-01 08-08 08-15 08-22

At -

2019 08

Change

>

ZEHHAR (CUM) © H 2019 02 01 % 2019 08 31

Change

[TOP]




ZhebREEAr GOPD E Bl WElan BEREHER (BR—)

7588 LotNo © |AH1220N (2019-01-28 ~ 2100-12-31) | Change |

42 Reagent Kit : [3-Innovation | Change |

R&atR

st A1ty + (2070 ] [08 v Chenee |

| | | Control N (Lot No.: AH1220N)

| ‘ Control D (Lot No.: AH1220D)
Reagent
. " Kit Target | Mean | n for SD CV|| TE |TEa
UnitID & (U/gHb)||(U/gHb)[Mean|>~||(%)[| (%) [ (%)

Target || Mean ||n for SD CV|| TE ||TEaq]
(U/gHb)||(U/gHb)|[Mean (%)[[(%)[[(%)

Code) £
Lab004( 3) 17.1 | 168 | 4 Jo3|[18][53]20]>6][ 56 | 54 ] 4 Jo.1J[r.9][7.3][20]>6]
[Labo13 [ 3 ][ 158 ][ 159 | 8 |.|13||31|| 20]>6]f][ 52 ][ 51 [ 8 |.|39||98||20|.
[Labole [ 3 ][ 153 | 16.0 | 5 Jpo.a]jo.s][5.8]20]>6]][ 52 ][ 53 ][ 5 Jo-1[r.9][5.7][20]>¢]
[Labo44 || 3 ][ 153 J[ 179 | 9 Jo.3)[2.8]2.6[ 20 |i.1][J[ 52 ][ 5.6 ][ 9 Jo.1[1.8]11.3][20][>6]
[ Towl [ - | - [ 167 [ 26 Jools.4 - |- J[-JIL - [ 54 1[26 Jo3[s.6] - ][ - J[-]

383 (Bias)% = { [ | B& i
4EERT= (TE, Total Error)% = g2 (Bias)% + 2 x BEHEEAE (CV)
o (Sigma) = (TEa% - sR%= (Bias)%) / RETEEE(AEL (CV)

[TOP]
ZETHETR
FEHHAR © & [2019 v][02 v|[01 V| & [2019 V][08 v|[31 V]| Change |
| I | Control N (Lot No.: AH1220N) i Control D (Lot No.: AH1220D) |
Reagent ] I ]
. : Target | Mean | n for CV/| TE |TEa Target || Mean nfor CV TE ||TE4
UnitD £ | B ety Mean 2 @) @) [ @) © ||| rerbyuretivym %)) °
(Code)!.( gHb)|(U/gHb)[Mean| ™ ||(%0)|| (Y0) | (70) (U/gHDb)|(U/gHb) can||> (o)(o)(o)
Lab004 [ 3 17.1 [ 17.1 ] 18 Jpo4][2.3][4.7] 20 >6: 56 | 55 ] 18 @36 9.1][20][5.1
Lab013 3 158 |[ 159 | 51 |o.2[1.3][3.1]20]>s6]f]] 5.2 52 ][ 51 Jo.1][1.9][3.8][20]>6
[Lab0l6 [ 3 ][ 153 | 16.1 | 16 Jo212][7.7]20 |>6] |.[|| 52 |[ 52 | 16 |.|19||38||20|.
[Labo44 | 3 ][ 153 ][ 18.0 | 46 Jpo.52.8]23.2] 20 Jo-8|][ 52 ][ 5.7 ][ 46 Jo-2|[3.5][6.6][ 20 [3.0]
[Toal |- - ] tes [t juaeo] - - JJIL_- 54 Josijossel - -]
HR7E (Bias)% = { [ | BEFFHE (Mean) - HAE{E (Target) | 1/ BE{E (Target) } x 100%
#8ER7 (TE, Total Error)% = 527 (Bias)% + 2 x Rt R{AH (CV)
o (Sigma) = (TEa% - 7= (Bias)%) / RaHEREMAE (CV)
[TOP]
| Reagent Kit IReagent Code|

|Innovation ||3 |




ZrRBRE A GOoPD Bl NWEmEREHER (HBFR2)

#EJE LotNo : |[AH1220N (2019-01-28 ~ 2100-12-31) | Change |

#EfE Reagent Kit : |3 - Innovation V| Change |

Control N B #tzt8 Eat#ist
Z LhEeR

| || || Control N (Lot No.: AH1220N) |
| I I Month (2019/08) I CUM (2019/02/01~2019/08/31) |

. ¢ |[Reagent Kitll Target || Mean ||n for D CV|| TE |[TEa Target || Mean ||n for SD CV|| TE ||TEa
UnitlD =11 codey £ {|(U/gHb)|(U/gHb)[Mean|[>|(2%6)][%) ||| © | [[(U/gHb)||(U/gHb)[Mean|>|(%){ %6) || o) ©
[Laboo4 || 3 ][ 17.1 ][ 168 ][ 4 Jo3|[18][5.3][20]>6][][ 17.1 ][ 17.1 ][ 18 Jo.4|[2.3][4.7][ 20][>¢]
[Labo13 [ 3 [ 158 | 159 ][ 8 Jo2[1.3][3.1][20]>6[][ 15.8 ][ 15.9 ][ 51 Jo.2|[1.3][3.1][20][>6]
Lab016 3 153 [ 160 ][ 5 Jo.]jo.s][5.8][20 |[>6][][ 153 ][ 16.1 ][ 16 Jo-2|[1.2][7.7][20][>¢]
Lab044 3 153 J[ 179 ][ 9 Jo.3][2.8]p2.6[ 20 JL.a]][ 153 ][ 18.0 | 46 Jo.5][2.8 232 20 0.8
[Towl [ - ][ - | 167 J[26 Jods4][ - - J[-JIC - [ 168 J[1st]roffe.0) - - 1[-]

SR (Bias)% = { [ | BEHP{E (Mean) - EHE{E (Target) | ]/ EAE{E (Target) } x 100%
4Bz57= (TE, Total Error)% = g2 (Bias)% + 2 x REEEAE (CV)
o (Sigma) = (TEa% - 322= (Bias)%) / Bt R4E (CV)

Rt - REHAR (CUM) : B [2019 v][02 v][01 v] % [2019 v][08 V][31 V][ Change |

[TOP]
Control D H#taTEL BTt
Z Ehie

| I I Control D (Lot No.: AH1220D) |
| I I Month (2019/08) I CUM (2019/02/01~2019/08/31) |

) + Reagent Kitl| Target || Mean ||n for D CV|| TE ||[TEa Target || Mean |[n for D CV|| TE |[TEa
UnitID = code) *[|(U/gHb)|[(U/gHb)Y Mean|[> (6| (%) ||(%)]|| © [ [[(U/gHb)|[(U/gHb) Mean|>[(%)]| (%) || (%)
[Laboo4 [ 3 ][ 56 |[ 54 ][ 4 Joaro][z3][20]>6][][ 5.6 [ 5.5 ][ 18 Jo2|[3.6][9.1][20]}5.1]
[Laboi3 [ 3 ][ 52 ][ 51 ][ 8 Jo23.9][98][20]k.e]][ 52 ][ 52 ][ 51 Jo.1][1.9][3.8][20][>¢]
Lab016 3 5.2 5.3 5 1.9([5.7][ 20 [[>6|| 5.2 52 | 16 [0.1][1.9]/3.8]f 20
Lab044 3 5.2 56 || 9 1.8 113 20 >6 5.2 5.7 || 46 [0.2]|3.5//16.6|| 20
[ Total J| - || - |l 54 ]2 |I|56|| O - s 3t Jofs.ell - - 1]

2 (Bias)% = { [ | &+ FE (Mean) - HIE{E (Target) | ]/ Etﬁ;ﬁ (Target) } x 100%
HEERZ= (TE, Total Error)% = 327 (Bias)% + 2 x BT8R (AE (CV)
o (Sigma) = (TEa% - g&7= (Bias)%) / BT EEEAE (CV)

A&t - BEHHAR (CUM) : 5 [2019 v][02 v|[01 V] % [2019 v][08 V][31 V]| Change |

[TOP]

| Reagent Kit |[Reagent Code|

|Innovation ”3 |
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